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Hysteresis Loop

Magnetization
of material

When driving magnetic field drops
to zero, the ferromagnetic material
retains a considerable degree of
magnetization. This is useful as a
magnetic memory device.

Y
=

Material magnetized
to saturation by
alignment of domains.

M g

pumy [} =

The material follows a non-linear
magnetization curve when
magnetized from a zero field value.

~ . Applied magnetic

g y

The driving magnetic field must be
reversed and increased to a large

value to drive the magnetization to
zero again.

Toward saturation in
the opposite direction

)
[y

H field intensity

The hysteresis loop shows the "history
dependent” nature of magnetization of a
ferromagnetic material. Once the
material has been driven to saturation,
the magnetizing field can then be
dropped fo zero and the material will
retain most of its magnetization (it

remembers its history).

; hysteresis losses
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عند مرور التیار في الملفات ینشأ مجال مغناطیسي یسبب تمغنط  قلب المنتج ویكون اتجاه التمغنط للقلب في نفس اتجاه المجال المغناطیسي بسبب أنه صار ممغنطاً وهكذا نجد المجال المغناطیسي حول الملفات یزداد واتجاه التمغنط أیضاً متغیر في ذلك القلب.



مفاقید التخلف المغناطیسي تعتمد غالباً على نوع مادة القلب المستعملة والمواد التي تحتفظ بجزء كبیر من تلك المغناطیسیة بعد أن تزول القوة المغناطیسیة تكون لها مفاقید تخلف عالیة ویقال أن هذه المواد لها مغناطیسیة متبقیة مرتفعة

لتقليله يصنع قلب المنتج من فولاذ السيليكون الذي يزيل المغناطيسية المتبقية عند ازالة مصدر التغذية ..
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